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[Written]

01. 4943 = gu=1 gz () Tw? [RUET17-18}
THMI: 4943 = U1 = 22046 = 2303 = 25 + 6 = 3w — 3 = » = 9 (Ans.)
02. 100 o 2@ Faene v Foer fOx weeret fimees om s et® @ | offt 383 v seait 70 o 2 @
20 & (31 TR 1 A, ©rReet e voem Ton Braad s 2312 [RUET’17-18]
U

RLINICE F@C

n(U) = 100;n(F) = 70; n(FU C)' = 20
949, n(U) = n(F) +n(C) —=n(Fn C) + n(Fu C)’
= 100 =70+n(C) —n(FNC) +20 = n(FNC) =n(C) —10.... (i)
AT Fo I Wror! fareat fOras st sieegt @afit |
9, n(C) > n(F)=n(C)—-10>70-10=>n(FNC) > 60
v s oy Brm T = 61 @ |
03, MMYRIT —— > 5 [BUET'16-17]

|5x+2|

- Ly A4 12 L
W.|5x+2125=:|53+2155=# ;S5x+2<:c= s—2<5x<--2

11 9 11 9 2
2 -TSSx<-In-Rox<-Z[xx-]
SSSH" S zs"“x" Iﬁx;t 5

04, (a) eIt T4 @, |a—b)| <|a| +]|b) [RUET’12-13]
gt (a|+b) =(al)’ +2]a[|b|+(b])
=a®+2|ab|+b? [~ |a||b= ab|]
>a’+2ab+b’ [.|ab[>ab]
~(al+|b]f 2(@a+bf =>(a|+|b]}>a+bP =sja|+|bj2|a+b| [asboth side >0]
Let,b=-b .. |a|+|-b[2la+(-b)| ..|a=b|<a|+|b] [Proved]

05. W ffrsas [3x~4|<2 [RUET’11-12]
TAYE: |3Xx —4[<2 = -2<3x-4<2 = -2+4<3x<2+4 =2<3x<6 :,_;.{Hg

1

06, 99T 39 : 25 IRUET’10-11]
|13x +1|
1 l 1 l 6 . 2 4
YIS 23 9, |3x+]|[<—- A —=<3x+1<—- A, -——<3x<—— T -Z<x<g-—
|3x +1] | | 3 3 5 S 5 S5 15
e, 3x+120 .*.x;t-—%
-, ety sy, —‘—;‘-Qxﬂ—% tﬂ?lxi—% (Ans.)
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[RUET?09-10]

07. I L <o

{3x —5]|

: : > 2 :1T,|3x—5|<:l;x;£§+ 4, —1{3]{—5{-1-;}{#23[;
|3x—35| 2 3 2 2 3

—-1-+5{3K{l+5;x¢2 41, 2{31{1—1~ x#é .‘*E{xiﬂ;xaté
2 2 3 2

. ﬁl‘t'-fﬂ’ﬁ'l‘:‘lﬂs %ﬂ!ﬂ%;ﬂ#é (ADS.)

08. A={0,1, 2,3, 4, 5 201 97 Ty SN 7
FAYI: 5
09. WSl x* < x «% A & a7
Y X2 <X = x*-x<0 = x(x-1)<0
10. Sx-x%-6>0 7@, x 97 9 g a0
T X2 —5x+6<0 M, x2-3x—2x+6<0
A, x(x=-3)-2(x-3)<0 M, (x-3)(x-2)<0

[BUTex’09-10]

[BUTex’09-10]
A L8 |

[BUTex’07-08]

T

(x—3)

(x-2)

x<2
2<x<3

x=3

03r+

0t-
+
+

e Ay s 2<x <3
A & <—l—l_Q_Q_)
11, IR TG B s= {x:5%°—16x+3<0} @7 Iz&w i @ mgew T fafr 3= |

I Sx°—16X+3<0 =>5%x>—x—15x+2<0 1
'g <X < 3

[KUET?04-05]

= X(5x~1)=3(5x~1)<0 = (5x~1) (x-3) <0 . e S = 3 qar T7oT AR = % (Ana)
12. T4 ¥4 Zs\x_ ‘wwnl [RUET’04-05]
Wﬁ:Zﬂ‘xl_ | :‘x—l‘ﬁ-;— ™, x =1
:>—-1-£x-ls-1—, %ngi T x#1 (Ans.)
MCQ
01. f-::—; ;memw [KUET’17-18]
() —4<x<6 (b)—4<x<6

(c)x<—3andx>7
FYE: (¢); Option test.

(dx<—4andx>6 () —3<x<7




02. J [{3+1’;’E;_ﬂ} +5 < 3 O3 T G760 @WD? [SUST*16-17)
@R-(-35) () (-35) ©{-53 OF © (~3.-3) v (©05)
TRYLE: (d); J (ai’;;_ﬂ +5<3 = J (Hf‘;:s" 5 S —2 ST - YA G =

03. [|x—1| > 2 93 FAYT G0 @AB? [SUST’15-16]
(a) (=2,2) (b) (-1,1) (€) (-22) v (-12) (d)(-=,—1)U(3,®) (8) (—»,)

AN (d); [x—1|>2%A, x-1>2 o x>3 UAL x—-1< -2 & x< -1
o, AT M 6% = (xeR: (o0, -1) U (3,0))
04. STIETV FeT - [BUTex’14-15]
(a) -2 (b) 8Va (c) V3 (d) =
TAN: (a & b); == T ; 8Y4 = 8 X 2 = 16 T
05. 0< |x—a| <p %A x 97 739 T [AF0 39| QUTH a ATEF BT HL 9L p G0 GRGS 7247

(@) (@a=p,a)U(a,a+p) (b)a—p<x=<a (c)asx<a+p [Ans: a] [RUET’14-15]
(da—psx<a+p (e)(a,p—a)u(a+p,a)
06. §={x:5x"—16x+3 <0} 99 IXT FigFrT QTR FHON TN @AD? [Ans: b] [BUTex’12-13]

(a) (3, %] (b) (3%) (c) (4,-%) (d) [4'_;,]
TYE: S={x:5x" —16x+3 <0} ={x:(x—3)(x_%){0} = {x:x <39 x }%}

- q%a i =-§- HReY SuiAI=3

07. ( Aedifh? [Ans: b] [BUTex’12-13]
(a) WeilRE Ryt (b) Tow TR (c) = IRt (d) et eyt

SRYL: \E=E Tt G3f6 e HYT |

08. a,b,cIWI AT QIR a > b,c YT AT TS T ac > be? [Ans: b] [BUTex’12-13]
(a) a=b (b)c>0 (c)e<0 (d)c=a=b
T a>b8 ¢>0THA ac > be TR

09. I x> 04 y< 0T, SIZH W57 @R 79 T AIRT? [Ans: b} [SUST’11-12]
(a) x+y (b) x-y (c) x/y (d) x| -y (€) x-y

10, 7% a, be RTH |a—b| @I TF 97 [Ans : ¢] [CUET’10-11]
(@) >|al-[b]] (b) Hla|-[b] (c) 2[al-|b] (d) None of these

11. WD 7e5? [Ans: a,b,c] [SUST’10-11]
() la+b|<la| +[y| (b} |a—b|<|a|+[p|  (c) —|a|<ala] (d) |ab]<|a| - |b|

12, x<y<0TA @HD AEy? [Ans: a] [SUST’10-11]
(a) x+y<xy (b) x+y=xy (¢) x+y>xy (d) x+y=xy



